2.5 Cartesian vectors

Right hand coordinate system
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3-dimensional vectors
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Direction cosines
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 is a unit vector
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(  important!!

F =>  Magnitude
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When in 3-D always use vectors!!
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Find complete vectors!!


-Don't try to find all the x components and then add them, then y's and z's. 

2.7 Position vectors

Def: Position vector- a fixed vector which locates a point in space relative to another point.
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Most of the time, the position vector will not begin at the origin, but at a point other than the origin.
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Hint: Find x, y, z  coordinates of all points first, then compute position vectors.

Homework:  2-61, 2-67, 2-70, 2-73, 2-80, 2-85, 2-87, 2-99

Read:  sections 2.8-2.9

1). Given:  A tower guy wire is anchored at A.
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Find:
a).  The position vector 
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b).  The position vector 
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c).  The unit vector 
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a).  A (40,0,30)

      B (0,80,0)
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b).  
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c).  
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2).  Given:  The previous problem.  Suppose the magnitude of the tension in the guy wire is 2500 lbs.

Find:
a).  Then tension vector  
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b).  The angles x, y, and z of 
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b).  
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Note:  These are the direction cosines    
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